#h(B¥F)

kg
40.00
35.00
30.00
25.00
20.00 —
15.00 ===
10.00 M
5.00

6% 7% 8% Oi% 10%% 115% 125% 135 145

—e— KH™(R6) ---0--- £[F (R4) —aA— ERE(RD)

EHEF)

Fiin INEERR R
X5 6 78 8B |9k |10 |11 |128% |13: [14%
KHTH (R6) 8.93| 1063 | 12.46 | 1422 | 16.05| 1899 | 22.79 | 28.91 | 34.08
£E(R4) 913 | 10.76 | 12.46 | 14.31 | 16.73 | 19.48 | 2469 | 30.21 | 34.53
BB E (R5) 918 | 1048 | 12.39 | 1419 | 1658 | 19.61 | 23.32 | 29.47 | 33.43

BhH(&ZF)

kg
30.00
25.00
20.00
15.00
10.00 =
5.00

6% 7% 8% % 10%% 115% 125% 131% 14%%

—e— KM (R6) ---0--- £[F (R4) —A— EIRE(R5)

#EH (ZF)

FHn INEERR R
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
KHEH (R6) 854 | 983 1162 13.70| 16.15| 19.10 | 20.42 | 22.80 | 25.01
£E(R4) 852 | 10.09 | 11.76 | 13.88 | 16.45| 18.66 | 21.38 | 23.99 | 25.24
ERE (R5) 832 9.90| 1154 1397 16.45| 19.18 | 21.00 | 23.21 | 24.58




EFEIL(BF)

[a]
35.00
30.00
25.00
20.00
15.00
10.00
5.00 : : : : : : : :

6F 75 8% 9% 10%% 115% 128% 13%% 14%%

—e— KHT(R6) --0--- £[F (R4) —aA— ERE(RD)

F&RECLEF)

Fi IR PER
X5 6k |78 (8% |98 [10#% |11 |12%% |13% |14k
KHAT (R6) 11.83 ] 1533 | 16.24 | 18.12 | 18.80 | 21.83 | 22.51 | 24.38 | 28.42
£ [E (R4) 11.82 ] 1445 16.05| 17.96 | 20.01 | 21.63 | 23.68 | 26.59 | 28.63
EEE (R5) 11.47 ] 1412 | 16.04 | 17.72 | 19.26 | 2047 | 22.02 | 25.70 | 27.02

EAEBIL(ZF)

]
30.00
25.00
20.00
15.00
10.00
5.00 : . . . . : ] ]

6% 75 8i% 9% 10/% 11m% 12 135% 145%

—eo— A HTi(R6) ---0--- £[F (R4) —aA— ERE(RD)

AL (ZF)

Fi NP R
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
XKHE (R6) 11.32 | 1350 1434 | 1714 | 1765 | 19.61 | 19.28 | 21.48 | 20.93
£[E (R4) 11.77 ] 13.63| 1570 | 17.27 | 1850 | 1948 | 19.93 | 2254 | 24.00
EHRE (R5) 1158 | 1298 | 1538 | 16.78 | 1860 | 19.73 | 19.20 | 21.21 | 22.45




RE&RIE (8F)

cm
55.00
50.00
45.00
40.00
35.00
30.00
25.00
20.00 : : : . ‘ ‘ ‘ .

65 75 8% Oi% 107% 115% 12 131% 145%

—— KH™(R6) ---0--- £[F (R4) —aA— ERE(RD)

REAKRIE(BF)

Fiin INEERR R
X5 6 78 8B |9k |10 |11 |128% |13: [14%
KHTH (R6) 26.96 | 30.04 [ 30.71 | 31.09| 3430 | 35.18 | 42.68 | 43.97 | 48.22
£E(R4) 2656 | 28.15| 29.91 | 31.97 | 34.35| 36.61 | 40.67 | 45.14 | 49.23
BB E (R5) 2719 | 28.94 [ 30.08 | 31.42 | 3293 | 35.19 | 38.93 | 42.77 | 44.98

REKRTR (ZF)

cm
55.00
50.00
45.00
40.00
35.00
30.00
25.00 : : : : : : : :

6% 75 8% 9% 10%% 115 125% 135 14%%

—e— KHET™ (R6) ---O--- £[F (R4) —A— ERER(R5)

REAFIE (ZF)

i IR hER
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
XKHE (R6) 2999 | 3395 | 33.13 | 36.00 | 37.68 | 39.71 | 45.76 | 45.88 | 51.01
£[E (R4) 2849 | 30.64 | 33.08| 3568 | 37.81 | 41.14 | 4440 | 47.30 | 49.39
EHRE (R5) 29.76 | 31.86 | 33.33 | 35.69 | 37.14 | 39.83 | 42.76 | 45.13 | 46.91




REFEV(BF)

(=]
65.00
60.00
55.00
50.00
45.00
40.00
35.00
30.00
25.00
20.00 ‘ ‘ : : : : : :

6% 7% 8% % 10% 11 12 13 14

—e— KHT(R6) --0--- £[E (R4) —a— E1RE(R5)

REBEV(EF)

8 INFER AR
X5 6% |78 [8% 9% |10m% |11&% |12% |13% [14%
A HT(R6) 27.19 | 31.42 | 36.93 | 38.31 | 42.33 | 45.84 [ 50.32 | 51.75 | 58.27
£E(R4) 2736 | 31.10 | 34.64 | 38.30 | 42.73 | 4551 | 50.14 | 52.95| 56.01
E1E & (R5) 27.19 | 31.13 | 35.31 | 38.84 | 42.78 | 45.22 | 48.54 | 52.84 | 54.91

REHEEV (ZF)

8]
55.00
50.00
45.00
40.00
35.00
30.00
25.00
20.00 : : : : : : : :

6% 75 8% 9% 10%% 115 125% 135 14%%

—e— KHET™ (R6) ---O--- £[F (R4) —A— BEiEER(R5)

REELV (XF)

i IR hER
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
XKHE (R6) 26.13 | 29.81 | 33.97 | 36.94 | 4094 | 43.04 | 4561 | 47.03 | 49.02
£[E (R4) 26.88 | 29.88 | 33.34 | 36.89 | 39.93 | 42.15| 4520 | 47.86 | 48.59
EHRE (R5) 26.35| 29.65 | 33.27 | 37.08 | 40.79 | 43.29 | 4483 | 46.38 | 48.03




20mivbILSY (BF)

[a]
100.00
90.00 =
80.00
70.00
60.00
50.00 —
40.00 /3" A=
30.00 L
20,00 W/
10.00 : : : ‘
6% 7% 8i% 9% 10% 11m% 125% 13 145%
—e— KH™(R6) ---O--- £[F (R4) —A— ERE(RD)
20mi v bILSU (BF)
Fiin INEERR R
X5 6k |78 (8% |98 [10#% |11 |12%% |13% |14k
KHTH (R6) 17.83 | 28.75| 38.34 | 4465 | 50.11 | 6096 | 65.77 | 78.97 | 91.78
£[E (R4) 1811 ] 27.70 | 3517 | 42.79 | 51.19 | 57.46 | 67.24 | 83.08 | 90.80
BB E (R5) 18.81 | 2858 | 37.15| 4548 | 55.21 | 61.03 | 66.76 | 82.92 | 88.14
20mI v hILT (KF)
=]
60.00
PO hoinininin TR
55.00 Y
50.00 g
45.00 N S ==
40.00 . ///
35.00 A
30.00 i
20.00 - —
15.00 4”/
10.00
6% 7% 8% 9% 10%% 115% 125% 13% 145%
—e— KHET (R6) ---0--- £[E (R4) —a— BIRE(R5)
20mI v hILTU (ZF)
T INEERR R
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
KHEH (R6) 15.04 | 21.71 | 27.74 | 33.37 | 42.04 | 4655 | 47.39 | 55.16 | 52.91
2[E (R4) 15.60 | 21.59 | 27.77 | 33.98 | 40.44 | 45.08 | 49.37 | 56.25 | 56.21
ER & (R5) 17.83 | 2224 | 2849 | 35.17 | 4431 | 49.89 | 46.61 | 52.48 | 55.48




B

50m3iE(5F)

7.00
7.50 /,ﬂ"”///—&;
8.00 /
8.50 =
add
9.00
9.50
10.00
10.50 o=
11.00
R
11.50 ﬂ/
12.00 : : :
6% 7% 8i% 9% 10%% 115 125% 135 14%
—eo— KH(R6) ---O--- £ (R4) —aA— BEiEE(RD)
50miE(BF)
Fi T EEZA
X5 6k |78 (8% |98 [10#% |11 |12%% |13% |14k
KHAT (R6) 11.75 ] 10.69 | 10.26 9.55 9.41 8.84 8.34 1.76 7.35
£ [E (R4) 11.47 | 1059 ] 10.13 9.70 9.30 8.94 8.37 7.83 7.49
EEE (R5) 11.59 | 10.67 | 10.19 9.58 9.19 8.89 8.39 7.84 7.50
50mzE (ZF)
)
8.00
8.50
9.00
9.50
10.00
10.50
11.00
11.50
12.00
12.50 : : : :
6% 75 8i% 9% 10/% 115% 125% 135% 145%
—e— KH(R6) ---0--- £[F (R4) —aA— ERE(RD)
50miE (ZF)
i IR hER
X5 6% |78 [8% |98 [10&% |11 |12%% |13% |14%
XKHE (R6) 1200 | 11.10 | 10.54 9.82 9.62 9.19 8.91 8.61 8.80
£[E (R4) 11.77 ] 1095 1042 | 10.00 9.57 9.26 9.02 8.76 8.68
EHRE (R5) 11.76 | 11.01 | 10.58 9.93 9.54 9.15 9.02 8.82 8.67




IALIEET(BF)

cm
240.00
220.00
200.00
180.00
160.00
140.00
120.00 & -
100.00 ‘
65 75 8% 9% 10%% 1185 125% 131% 147%%
—&— KH(R6) ---O--- £[F (R4) —aA— ERE(RD)
MHEIEEU(BF)
F i INEERR R
X5 6% |75 8% |9m 10 [118% [128% [13%% |14
KHTH (R6) 114.90 | 132.01 | 137.04 | 147.69 | 155.28 [ 167.43 | 189.81 [201.02 [ 216.71
£[E (R4) 116.98 [ 127.41 | 136.59 | 145.25 | 156.04 [ 166.14 [ 186.11 [203.79 [ 217.30
BB E (R5) 117.85 | 131.72 [ 139.13 | 147.30 | 157.02 [ 167.42 | 182.60 [ 201.85 [ 214.24
IABEEV (XF)
cm
180.00
170.00
160.00
150.00
140.00
130.00
120.00
110.00
100.00 ‘
(7 7% 8k% Oi% 107% 115% 12% 13m% 145%
—e— KHT(R6) ---O--- £[F (R4) —aA— BERE(RD)
SHIEEU (ZF)
F i INEERR R
X5 6k |7 I18m |19 [10m |11&% |12 |13m [14%
KHEH (R6) 109.60 | 123.97 [ 129.90 | 143.46 | 151.06 | 150.54 | 170.65 [ 174.80 | 173.31
2E(R4) 108.42 [ 119.62 | 128.26 | 137.98 | 148.68 [ 154.71 | 167.06 [ 172.96 | 176.01
ER & (R5) 112.49 [123.96 [ 129.56 | 139.77 | 150.56 [ 156.50 | 160.82 [ 170.74 | 174.55




VIR N\ RR—ILEIT (BF)

35.00

30.00

25.00

20.00

15.00

10.00

5.00

6% 7% 8i% 9% 107% 11m% 12 135% 145%

—eo— KHT(R6) ---0--- £[EF (R4) —A— BIiRE(R5)

VIR N\URR—ILERIF (BF)

8 INFER AR
X5 6 |78 [8% |98 (10 |11 |125%% |183% |14%%
K HTh (R6) 9.04 | 13.70 | 18.86 | 21.53 | 25.07 [ 29.05 | 19.42 | 21.35 | 24.86
£[E(R4) 827 | 11.38| 1498 | 1817 | 21.88 | 25.39 | 17.98 | 21.03 | 23.80
E1R & (R5) 8.82 | 13.23 | 16.30 | 20.33 | 24.20 | 26.68 | 17.83 | 20.94 | 23.38

VIR RR— LT (ZF)
20.00

18.00

16.00

14.00
12.00

10.00

8.00

6.00

4.00

6% 7% 8i% 9% 10m% 115% 127% 13m% 145%

—e— KHT(R6) ---O--- 2[F (R4) —A— BiRE(R5)
YIh-NURR—ILIEIT (ZF)
F INEAR HhEEgR
X5 6% 7% |8& |9% |10&% [11&% [12F |13% |14
A HT(R6) 597 | 7.99| 10.14] 12.85| 1479 | 17.82 | 12.67 | 13.00 | 14.06
£ [EF (R4) 563| 7.37| 9.33| 11.53] 13.42 | 15.22 | 11.58 | 13.32 | 14.05
51k E (R5) 567 | 806| 10.28 | 12.68 | 15.71 | 17.49 [ 12.02 | 12.97 | 14.14




BRAEBF)

N
340.00
360.00
300 [ — - -0
é’._,._—-;".'_'_.-___ ________ A
40000 | e
420.00 S et
o
440.00 ./
460.00
480.00
128% 13i% 145%
—e— XM (R6) --0--- £[F (R4) —A— E1RE(R5)
BAE(BF)
F i R
X5 125 (138 [14%
KHTH (R6) 446.48 | 398.00
£E(R4) 418.49 | 396.52 | 378.05
ERE (R5) |429.28 |394.27 |391.98
BAE(ZF)
)
260.00
280.00
_—’—O -----------------
--------------- o
30000 [
o a— —A
« . _.—-
320.00 e
340.00
12%% 13%% 14%%
—&— KH(R6) ---0--- £[F (R4) —aA— ERE(RD)
BAFE (ZF)
F i R
X5 12%% |13 |14
KHEH (R6) 315.70
2E(R4) 308.69 |289.74 | 294.17
ERE(R5) (31998 |311.03 | 307.41




